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125 Questions

Que. 1 Fill in the blank with the appropriate alternative

1

2.
3.
4

Everything was very expensive. We did not

Sell
Purchase
Parchase

none of the above

Correct Option - 2

Que. 2 Fill in the blank with the appropriate alternative

1

2.
3.
4

I can not find my pen. Can you find it for

I
me
you

mine

Correct Option - 1

Que. 3 Fill in the blank with the appropriate alternative

1

2.
3.
4

Toys were lying the room.

About
What
In
That

Correct Option - 3

Que. 4 Fill in the blank with the appropriate alternative

1

2.
3.
4

The bus was full passengers.

In

At

of
About

Correct Option - 3

Que. 5 Fill in the blank with the appropriate alternative

anything?
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Car is generally in size than the truck.
1. Larger
2. Bigger
3.  Smaller
4. Big

Correct Option - 3

Que. 6 Find the correctly spelt word?

1. Acelerator
2. exicilirator
3. Axcelarator
4.  Accelerator

Correct Option - 4

Que. 7 Find the correctly spelt word?

1. License
2. Lisense
3. Lesense
4

Lecense

Correct Option - 1

Que. 8 Find the correctly spelt word?

1. temparament
2. tempramnet
3. temprament
4.

tmeprament

Correct Option - 1

Que. 9 Which alternative is the Synonym of the word 'Sudden":

1. delayed

2. preponed
3. automatic
4

unexpected

Correct Option - 4

Que. 10  Which alternative is the Synonym of the word 'interpretation':
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1
2
3.
4
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Analysis
differentiate
afterwards

unknown

Correct Option - 1

Que. 11  Find out the error in following sentence:

1

2.
3.
4

The capital of Yemen / is situating / 2190 meters above/ the sea level?

The capital of Yemen
1s situating
2190 meters above

the sea level

Correct Option - 1

Que. 12 Fill in the blank with the appropriate alternative.

1

2.
3.
4

Always obey rules.

Trefic

Trafic

Traffic

None of the these

Correct Option - 3

Que. 13 Find out to error in following sentence:-

1

2.
3.
4

I will give you / an award if you / do your work / with satisfactory

I will give you
an award if you
do your work

with satisfactory

Correct Option - 4

Que. 14 Fill in the blank with the appropriate alternatives

Sl

Do not your vechicle on the road.

pare
park
Prac
None of the these
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Correct Option - 2

Que. 15 Which altenative is the Antonym of the word 'Beautiful':

1.  Wonderful
2. Graceful
3. Ugly

4. Handsome

Correct Option - 1

Que. 16 Which altenative is the Antonym of the word 'Sincere':

1. unsincere
2. insincere
3. nonsincere
4,

dissincere

Correct Option - 2

Que. 17 Which altenative is the Antonym of the word 'Criminal':

1. police
2. lawful
3. respectful
4. grateful

Correct Option - 2

Que. 18 Which altenative is the Antonym of the word 'Defer':

1. Indifferent
2. defy

3. Differ

4. Postpone

Correct Option - 1

Que. 19  When it rains in small drops it is called?

1. drizzle
2. drizle
3. dirzzle
4,

drizzle

Correct Option - 1
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Que. 20 A disease which spreads by contact is called?

1. Incurable
2. Injectious
3. Contagious
4. Fatal

Correct Option - 1

Que. 21 Fill in the blank with the appropriate alternative

Isaw a of Sheeps in the field?
1.  Group
2. Flock
3. Swarm
4. Class

Correct Option - 2

Que. 22 Fill in the blank with the appropriate alternative
I had to apply as the child was crossing the road

1. Brakes
2. Breaks
3. Bracks
4. None of the these

Correct Option - 1

Que. 23 Fill in the blank with the appropriate alternatives

One of the teachers next door to my uncle

1. live
2. lives
3. sleep
4. stay

Correct Option - 2

Que. 24 What is meant by "Give up"

1. Begin
2. rise

3. settle
4

leave
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Correct Option - 4

Que. 25 Fill in the blank with the appropriate alternative
Always check tyre before starting a journey.

1. Presure

2. Prussure

3. Pressure

4. None of the these

Correct Option - 3

Que. 26 g Il BT IF PIToTL-

1. 3w
3N
3R]
3]

Correct Option - 2

el

Que.27 FgfiEd & S SireT faudianie 781 & 39 |

1. -y
2. Y- 3YH
3. -y
4. WA -PeA

Correct Option - 2

Que. 28  Tfd T4 Ual BT SIST 2

I3y - Wl
g
gl

giTcd

Correct Option - 3

b -

Que.29 IS FS AT &

1. gdy
2. oy
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BiCE|
4, QRA

Correct Option - 1

Que. 30  HIYT 3BT BT Y B-

L. JeEEH

2. IHYHE gl
3. GBI
4. RREEE

Correct Option - 3

Que. 31  "3JfG" & YIGAT Ieq Tl 2
Elal

353

Correct Option - 4

Que.32 TRIdGEH TS @R U]

jasd

1
2
3.
4
Correct Option - 1

Que. 33 "SI BT UTTgaTeh Ueg 3|
]

423

Correct Option - 3

Que. 34 "HHA" BT YA Ueg Idd |
1. gt
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2. Ed gy
3. Fagey
4. WA

Correct Option - 4

Que.35 "IN HT I st B

253

1
2
3.
4

Correct Option - 1

Que. 36  T[g AT P Ig DI/

l. JESTSUHIRT G
2. dgTTSH AT S

3. JgeUsaAAgR
4. JEITS AT G

Correct Option - 2

Que.37 "RR gIH R TG HT 3 82

1. g1 &1 UeRH &l
2. WRNY WHR HR A
3. HRAS AR g
4. 3MEHR B faqo BT

Correct Option - 3

Que. 38 "Yg" BT TIIAT! Teg A8l 82

1. g
2. Y|
3. T8

4. W

Correct Option - 3

Que.39 =gt umwr fpg fordh & foredt et 22
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T
FCRIR

Sl

STell
Correct Option - 2

Que. 40 S 3=y Pl H YT g1 &) Heddl o
R
2. TR
3. pdH
4. ERE

Correct Option - 3

Que. 41 "T[eh H GH R A" HETaR T 37 Sl

l. SgdUgA g

2. 9gd WM AT
3. oI e AT
4. FArs

Correct Option - 2

Que. 42 "HIEY" BT TAlfeiT] AT BRI

L gyt
2. gret
3. giydt
4. IRad H Y BIs T8l

Correct Option - 2

Que. 43 "FA" P HIGATID AT B |

L. dIcihud
2. delud
3. §9UAl

4. gdgud

Correct Option - 4
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Que. 44 " Teg BT YT ST

1. adr
2. 99
3. Afeq
4. drsd

Correct Option - 1

Que. 45 ﬂfﬁﬁwgﬁ_
3 fergea™ U aH! & aTties STAATH H HIT o & o Ta=3> SMTT 3|
1. 3efidw
2. 3fYduT
3. 3ffdravH
4. fyd=T

Correct Option - 3

Que. 46  fHfIRIT & T Y e BT T fhiog

1114

Correct Option - 2

Que. 47 fZ=Y YTV Y 31T ST HIST B2

TEY

1
2
3.
4
Correct Option - 1

Que. 48 TN BT gl AY-fTw5E &-

L e+ 9

2. IIT-[:+?3hT[

3. T+ MM

4. IWRGIH I BIs Tl
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Correct Option - 2

Que. 49 V3R ¥ fayrg @ 8-

Herd!

3ffa-td
BlIRSED
SIITSED

Correct Option - 4

b -

Que. 50 T 3R 3ifgTT BT g gl

1. afiyor
2. f3®ce
3. 9y
4. YHc

Correct Option - 3

Que. 51 Find the odd word from the given alternatives:

1. Potato
2. Tomato
3. Carrot
4. Radish

Correct Option - 3

Que. 52 From the alternatives given below which alternate does not belong to the group?

1. Today

2. Tomorrow
3. Sunday

4. Yesterday

Correct Option - 3

Que. 53 Who is the Railway minister of India?

1. Ashwini Vaishnaw
2. Sushma Swaraj

3. Rajnath Singh

4. Narendra Modi
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Correct Option - 1

Que. 54 Lubrication of all moving parts is essential to

1.
2.
3.
4.

Increase friction
Reduce friction
Increase speed
None of the above

Correct Option - 2

Que. 55 Which of the following reduces tyre life

1.
2.
3.
4.

High speed
Running the tyres with under inflation
Both 1 & 2

None of the above

Correct Option - 3

Que. 56 Which type of water is used in electrolyte?

1

2.
3.
4

Ordinary water
Distilled water
Coolant

None of the above

Correct Option - 2

Que. 57 P.V Sindhu is associated with which sports

1

2.
3.
4

Hockey
Badminton
Football

Lawn tennis

Correct Option - 2

Que. 58 Which is the largest sugarcane producer country in the world

1.
2.
3.
4.

America

Correct Option - 1

https://link.testbook.com/bQQ2EkH 1bpb
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Que. 59 What will be the number in the series given below

49 :7:: 144 :?
1 12
2. 13
3. 14
4 11

Correct Option - 1

Que. 60 Which word from the alternatives given below will take the place of '’

France : Paris :: Sweden : ?

1. Stockholm
2. London

3. Canberra
4. Sydney

Correct Option - 1

Que. 61 Which word from the alternatives given below take the place of ?
Goat : Bleat :: Dog : ?

1. Hawl
2. Bray
3. Bark
4.  Grunt

Correct Option - 3

Que. 62 Find the odd word from the given alternatives:

1. India
2. Srilanka
3. France
4

Japan

Correct Option - 3

Que. 63 Select the word that cannot be formed by using the alphabets of the word "INCONSISTENCE"

1. SUN
2. NOSE
3. SON
4. COIN
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Correct Option - 1

Que. 64 How many numbers are there between 11 and 91 which are divisible by 2 and the total of two digits is

1

2.
3.
4

6
3
2
1
More than 3

Correct Option - 1

Que. 65 Madhubani, a style of paintings, is popular in which of the following state of India?

1

2.
3.
4

Uttar Pradesh
Rajasthan
Madhya Pradesh
Bihar

Correct Option - 4

Que. 66 When was the constitution of India was adopted by Constituent assembly?

1.

2
3.
4

25M Oct, 1948
251 Oct, 1949

26" Nov, 1948
26% Nov, 1949

Correct Option - 4

Que. 67 What should you do if an ambulance or fire service vehicle approaches your vehicle from behind with

1

2.
3.
4

Siren on or lights flashing?

Maintain your speed and lane

Slowdown and activate your emergency lights
Give way as soon as possible

Accelerate your vehicle.

Correct Option - 3

Que. 68 Ifyou see a pedestrian waiting at a crossing ahead, what should you do?

1

2.
3.
4

Slow down and wave them across
Come to a complete stop and wait for them to cross
Speed upto pass as quickly as possible

Hoot to warm them not to cross.
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Correct Option - 2

Que. 69 Cautionary traffic sign is of what shape

1. Circular
2. Square
3. Triangular
4

Rectangular

Correct Option - 3

Que. 70  What is the capital of Sikkim?

1. Kolkata
2. Guwahati
3. Gangtok
4. Kohima

Correct Option - 3

Que. 71  Which is the longest river in India?

I. Ganga

2.  Godawari

3. Brahmaputra
4

Narmada

Correct Option - 1

Que. 72 Which of the following is the hardest substance available on Earth is?

1. Gold

2. Iron

3. Diamond
4

Platinum

Correct Option - 3

Que. 73 When was the Battle of Plassey was fought?

1. 1757
2. 1782
3. 1748
4. 1764

Correct Option - 1
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Que. 74 The Book "Discovery of India" was written by

1. Mahatma Gandhi

2. Pandit Jawahar Lal Nehru
3. Sardar Patel

4. Lal Bahadur Shastri

Correct Option - 2

Que. 75 In India the first rail line was constructed between

1. Hawrah and Srirampur
2.  Bombay and Thane

3. Madras and Guntor

4. Delhi and Agra

Correct Option - 2

Que. 76 Mutiny of 1857 started form

1. Delhi

2. Jhansi

3.  Meerut

4. Barrackpore

Correct Option - 3

Que. 77 From the alternatives given below select the alternative that continues the given series.
ABZ, CDY, EFX, GHW, ?

1. IKP
2. JLO
3. Vv
4. ILP

Correct Option - 3

Que. 78 From the alternatives given below select the alternative that continues the given series
13, 26, 39, 52, 65, ?

1. 73
2. 63
3. 78
4. 74
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Correct Option - 3

Que. 79 14 is related to 56 in the same way as 9 is related to

1. 36
2. 46
3. 26
4. 26

Correct Option - 1
Que. 80 A told B, "The Girl I met yesterday was the youngest daughter of the brother-in-law of my mother".
How is the girl related to A?

1. Niece

2.  Cousin

3. Friend

4. Daughter

Correct Option - 2

Que. 81 15% of 260 - 32% of 125 =7

1. 100
2. 200
3. 125
4. None of the above

Correct Option - 4

Que. 82 Whatisthe valueof CifC-3=1

I. 3
2.

3. 4
4. -2

Correct Option - 3

Que. 83 If Ram drives a Jeep at the speed of 50 Km/h. How much distance will he cover in 4 hrs?

1. 150 Km
2. 200 Km
3. 180 Km
4. 210 Km

Correct Option - 2
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Que. 84
1. LOOHCS
2. LOOCHS
3. LOHOCS
4. LOOSHC

Correct Option - 1

Que. 85
for 'GOOD LUCK"?
1. 35
2. 25
3. 42
4, 38

Correct Option - 2

Que. 86 Which word does not belong with the others?

1
2.
3.
4

Fork
Knife
Spoon
Plate

Correct Option - 4

Que. 87 Where were the 2010 Commonwealth games held.

1

2.
3.
4

Canada
Australia
India

Malaysia

Correct Option - 3

Que. 88 Who is called "Iron Man" of India

1
2.
3.
4

Bhagat Singh

Sardar Ballabh Bhai Patel
Govind Ballabh Pant
Subhash Chandra Bose

Correct Option - 2

https://link.testbook.com/bQQ2EkH 1bpb

In a certain code CLASS is coded as SSALC. How will SCHOOL be written in the same code ?

In a certain code "21' means 'GOOD MORNING' and '27' means 'GOOD EVENING'. What is the code
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Que. 89 World's Highest water fall is

1. Boyoma
2. Stenly
3.  Angel
4. Niagara

Correct Option - 3

Que. 90 Normally commonwealth games are held at an interval of

1. 3years
2.  4years
3. Syears
4. 6years

Correct Option - 2

Que. 91 Which of the following is used in pencil

1.  Graphite

2. Silicon

3. Charcoal

4. Phosphorous

Correct Option - 1

Que. 92  Which is the purest form of water

1. Tap water

2. Rain water

3. Sea water

4.  None of the above

Correct Option - 2

Que. 93  Which is not constituent of an atom?

1. Electron
2. Proton
3. Neutron
4. Photon

Correct Option - 4

https://link.testbook.com/bQQ2EkH 1bpb

Que. 94 If an amount of Rs. 6,000.00 was taken as loan @12% for three years. What would be the total interest

on that
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1. Rs.3160
2. Rs. 2160
3. Rs. 3060
4. Rs. 3360

Correct Option - 2

Que. 95 Ifa Car tyre gets worn out after travelling 10,000 Kms. Then after how many Kms will 4 tyres get
worn out. If no tyre rotation is done.

1. 20,000 Km
2. 15,000 Km
3. 10,000 Km
4. 14,000 Km

Correct Option - 3

Que. 96 Ram completes a work in 20 days and Rahim completes the same work in 30 days. If both of them
work together, in how many days the work will be completed

1. 12 days
2. 14 days
3. 16 days
4. 10 days

Correct Option - 1

Que. 97 A student reaches school in 45 minutes with the speed of 6 kms per hour. What is the distance of the
school?

1. 4Km
2. 45Km
3. 5Km
4. 3.5Km

Correct Option - 2

Que. 98 A car covers 2500 mtrs in 2 minutes. What is it's speed in km per hour?

1. 90
2. 80
3. 75
4. 60

Correct Option - 3

Page- 20


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

https://link.testbook.com/bQQ2EkH 1bpb https://link.testbook.com/bQQ2EkH 1bpb

Que. 99 The average of the first 7 positive even numbers is

1. 75
2. 8
3.

4. 7

Correct Option - 2

Que. 100 The sum of ages of five children born at the interval of 3 years each is 50 years. What is the age of the
youngest child

1. 4 years
2.  8years
3. 10 years
4. 12 years

Correct Option - 1

Que. 101 At present, the ratio between ages of Arun and Dipak is 4 : 3. After 6 years, Arun's age will be 26
years. What is the age of Dipak at present.

1. 12
2. 15
3. 19
4. 21

Correct Option - 2

Que. 102 Find the odd one out from 3, 5, 11, 14, 17, 21

1. 21
2. 17
3. 14
4. 3

Correct Option - 3

Que. 103 What is ratio between 100 cm & 10 mtr

: 10
: 100
: 11
: 10

N = =

1.
2.
3.
4.

Correct Option - 1
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Que. 104 A train running at a speed of 60 km/hour crosses a pole in 9 Seconds. What is length of the train?

1. 120 mtr.
2. 180 mtr.
3. 324 mtr.
4. 150 mtr.

Correct Option - 4

Que. 105 Find the value of 1/144?

1. 12
2. 18
3. 24
4. 15

Correct Option - 1

Que. 106 A vendor bought toffees at the rate of 6 for a rupee. How many toffees for a rupee must he sell to gain
20% profit?

1. 3
2. 4
3. 5
4. 6
Correct Option - 3

Que. 107 What is the value of 3(2 + 1)

1. 10
2. 11
3. 9

4. 12

Correct Option - 3

Que. 108 In first ten overs of a cricket game the run rate was only 3.2. What should be run rate in the remaining
40 overs to reach the target of 282 runs?

1. 6.25
2. 65
3. 6.5
4. 7

Correct Option - 1
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Que. 109 Average weight of 16 boys in a class is 50 kgs and that of remaining 8 boys is 45 kgs. Find average
weight of all the boys in the class?

1. 47.55 kgs.
2. 48 kgs.

3. 48.33 kgs.
4. 49.25 kgs.

Correct Option - 3

Que. 110 If marks of five students are 55, 60, 45, 53 & 57 respectively. The average marks of all the students

is?
1 57
2. 54
3. 56
4. 55

Correct Option - 2

Que. 111  Which one of the following is not a prime number

1. 31
2. 61
3. 71
4. 81

Correct Option - 4

Que. 112 The smallest 4 digit number is

1. 1000
2. 1001
3. 9999
4. 1002

Correct Option - 1

Que. 113  What is the value of 3 + 33 + 333 +3.33 =7

1. 3623

2. 37233
3. 70233
4. 35233

Correct Option - 2
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Que. 114  If the number of gifts given to a child is equal to the number of children and if total 81 gifts were
given. Calculate number of children.

. 11
2. 10
3. 8
4
Correct Option - 4

Que. 115 Ifa bus travels 300 Kms in 6 Hrs. What is the speed of the bus in Kilometers per hour.

I. 50
2. 55
3. 45
4. 60

Correct Option - 1

Que. 116 From the alternatives given below which alternative does not belong to the group

1. forehand
2. backhand
3. service
4. shuttle

Correct Option - 4

Que. 117 Which word does not belong with the others?
1. English
2.  Hindi

3. Sanskrit
4. Biology

Correct Option - 4

Que. 118 Ram is 5 years older to Shyam whose age is double the age of Ghanshyam. If sum of ages of Ram,
Shyam and Ghanshyam is 45 years. Find the age of Ram

1. 24
2. 18
3. 16
4. 21

Correct Option - 4
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Que. 119 Rajesh moves 50 meters in the front and 50 meters towards right, then every time turning towards left
he moves 50, 50 & 50 meters. How far is he from his initial point

1. 25 meters
2. 50 meters
3. 35 meters
4. 55 meters

Correct Option - 2

Que. 120 If average weight of 10 students is 30 Kg. If the weight of the teacher is added, the average weight of
the class increases by 2 Kgs. What is the weight of the teacher

1. 60kg
2. 52kg
3. 70kg
4. 54kg

Correct Option - 2

Que. 121  Which word from the alternatives given below will take the place of '?'
Architect : Building :: Sculptor : ?

1. Museum
2. Statue
3. Chisel
4. Stone

Correct Option - 2

Que. 122 Fan is related to wings in the same way as wheel is related to

1. Round
2. Air
3. Spokes
4. Car

Correct Option - 3

Que. 123  Find the odd word from the given alternatives:

1. Vapour

2.  Mist

3. Hailstorm
4. Fog

Correct Option - 3
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Que. 124 If PALE is written as 2134. EARTH is written as 41590. How will PEARL be written in that code ?

1. 25430

2. 29530

3. 25413

4. 24153

Correct Option - 4

Que. 125 If "Eraser" is called box. "Box" is called pencil. "Pencil" is called Sharpener, "Sharpener" is called
bag. What will a child write with

1. Eraser

2. Bag

3. Pencil

4.  Sharpener

Correct Option - 4
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